
1

2

3

4

5

6

345

7

www.bison-bial.pl  •  e-mail: info@bison-bial.pl  •  www.bison-bial.ru  •  e-mail: info@bison-bial.ru

cZęści Zamienne i akcesoria 
запаСные ЧаСти и акСеССуары

nr produktu Typ
M L

Код продукта Тип
800003039 s-0881/0 M12 x 1 6

800003041 s-0884/0 M16 x 1,5 7

800003043 s-0887/0 M20 x 1 8

800003045 s-0891/0 M22 x 1 9

800003047 s-0894/0 M27 x 2 12

800003049 s-0897/0 M30 x 2 12

800003052 s-0901/0 M36 x 3 14

800003054 s-0905/0 M45 x 3 16
800003056 s-0909/0 M52 x 3 16

NAKRęTKA Do RozwIeRTAKów 5310 
гАйкА Для РАзвёРткОв 5310

nr produktu Typ
M L

Код продукта Тип
800003031 s-0772/0 M12 x 1,5 10,5

800003032 s-0774/0 M16 x 1,5 12

800003033 s-0776/0 M22 x 1,5 15,5

800003034 s-0778/0 M27 x 1,5 17,5

800003035 s-0780/0 M36 x 1,5 21

800003036 s-0782/0 M48 x 1,5 23

800003037 s-0784/0 M68 x 1,5 25,5

NAKRęTKA 
гАйкА

nr produktu Typ
a d D

Код продукта Тип
800003038 s-0880/0 4 10 18

800003040 s-0883/0 4 13 21

800003042 s-0886/0 5 16 27

800003044 s-0890/0 6 19 32

800003046 s-0893/0 7 22 39

800003048 s-0896/0 8 27 46

800003051 s-0900/0 10 32 56

800003053 s-0904/0 12 40 65

800003055 s-0908/0 14 50 80

zABIeRAK 
пОвОДОк

nr produktu Typ
d1 d2 a b

Код продукта Тип
800003084 u-1364/0 16 32 8 10

800003085 u-1365/0 22 40 10 12

800003086 u-1366/0 27 48 12 12

800003087 u-1367/0 32 58 14 14

800003088 u-1368/0 40 70 16 14

800003089 u-1369/0 50 90 18 16

wKRęT 
шуРуп

nr produktu Typ
M L

Код продукта Тип
800005796 u-0293/0 M8 16

800005797 u-0757/0 M10 20

800005798 u-1599/0 M5 12

800005799 u-6317/0 M6 14

800005800 u-6318/0 M12 22

800005801 u-6793/0 M16 30
800005802 u-6794/0 M20 40

nr produktu Typ
M L

Код продукта Тип
800005822 s-2628/0 M14x1 7
800005823 u-1997/0 M6 6
800003091 u-4131/0 M6 10
800003092 u-4132/0 M8 10
800003093 u-4133/0 M10 12
800003094 u-4134/0 M12 16
800003095 u-4135/0 M14 16
800003096 u-4136/0 M16 16
800003097 u-4137/0 M18x2 20
800003098 u-4138/0 M20x2 20
800003099 u-4139/0 M24x2 25
800003107 u-5870/0 M20x2 25
800003108 u-5887/0 M14 15
800003109 u-5888/0 M16 13
800003144 u-6755/0 M16x1 6,5
800003145 u-6756/0 M16 10
800003146 u-6757/0 M18x2 9,5
800003157 u-7381/0 M8 6
800003158 u-7382/0 M10 10

zABIeRAK Do RozwIeRTAKów 5310 
пОвОДОк Для РАзвёРткОв 5310

wKRęT 
шуРуп


